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Theoretical researches in the field of machining wood with a design procedure of power parameters 

are brought. The opportunity to make use of experience of the previous researchers for calculation of 
force and power of process of milling of wood-fiber plates of average density is analyzed. The tech-

nique of carrying out of experiment by definition of force and power of milling of wood-fiber plates is 

described. Results of the lead experiments are presented. As a result of the analysis modes of milling, 

optimal of a position of the maximal productivity and the minimal power consumption are chosen.
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